PRE-GALVANIZED PALISADE FENCE

Fixing Detail
&\

M8x40 Cup Square

a\\ _
M8x90 Cup Square
/

./ Mounting Bracket
/

/!

M8 Shear Nut

e

™~ Nylon Space

.
e

"~ M8 Shear Nut

FENCE PROFILE
Rolled Profile

—9.50 -

1.20



2.1m high Fence Diagram

A L
[_Q_Q'_Q_H&MM_Q_Q_Q_Q_QHQ_AQ_Q_]
O 1 L__ 1 1
LI [} L I— 1
TOP VIEW
\ 2500 )
| 160, 15 | 76x76x2 SHS POST

|
[
| 300

45

ot

PROFILE DETAIL

o
3 ” 2.1m HIGH PANEL - WITH 3
: 1 HORIZONTAL CROSS MEMBERS
FIXED TO 76X76X2MM POSTS
WITH MB CUPSQUARES &
o o SHEAR NUTS. POSTS SET IN
8 2 S 450X450X600 15MPA CONC
& = S FOOTINGS AT 2.5M CENTRES. 15
PALES PER PANEL AT 160
CENTRES - CENTRE PALE IS
EXTENDED 300MM & SET IN
300X300X300 CONC FOOTING
r 15T
+l WHWWWWHTHW NN NI WIS} eeque
LEVEL
el e aela [© ] el lfen
.1 1. | DROPPER SETIN .
CONCRETE FOOTING
» «Llu «| 300X300X300 DEEP selles L
MOUNTING POST SET
ELEVATION ON PANEL IN CONCRETE FOOTING
450450600 DEEP
. .
.
1.8m high Fence Diagram
TESA SERENGETI 1.8M PANEL- WITH 2 HORIZONTAL CROSS MEMBERS PROFILE DETAIL
SECURED TO 76X76X1.5MM SQUARE TUBING WITH M8 CUPSQUARES AND
TAMPER RESISTANT SHEAR NUTS POSTS ARE PLANTED IN A 450X450X600 45
IS MPA CONCRETE FOORING SPACED AT 2.5M CENTRES. THE CENTRE PALE OF
EACH PANEL IS EXTENDED AND SET IN 300X300X300 CONCRETE FOOTING —
[ O O[O O 00 0 000 0000 O O OIX|[cOo O] + ~
N
ToP VIEW. 2500 . 76x76x1.6
SQUARE TUBING
| 160, 115 |
o
T onamoanndhonnonanoion
S 2
g 8
L L LT HINNEEN
n
AN AT A AT AT AT A R (AR
o | — — 8 | —
3 b « 4 | « [ MOUNTING POST SET
DROPPER SET IN IN CONCRETE FOOTING
««| |+ «|CONCRETE FOOTING «o| |- - |INCONCRETE FOO
==~ | 300X300X300 DEEP s -




2000

VALUE PALISADE FENCE
Rolled Profile

1202

e~ 70mm =2 ——2mm THICK

2.0m high Fence Diagram

.""'. .'"'. 1—r

120°

2mm THICK

TOP VIEW PROFILE DETAIL

| 2000

,
| 210, 140 | 50x50%1.6mm

el T

1340
2000

A AT AT AT A AR

MOUNTING POST SET
ELEVATION ON PANEL IN CONCRETE FOOTING
450X450X600 DEEP



